HERISEEZANR—AS « X— UMD (ZERE)

R6.7.1~
BERERER X B31858)
ENEE ENE1 | ENE2 | 2MNEI | 2nE4 | NED
MERMTED —EE (18) 600M | 671H | 745Mm| 8170 | 887H
MERNEY -8 (318) 18, 600 20, 801 23,095 25,327 27,497
A fj&fm D81 (1287=12M) 372 372 372 372 372
e \)jzen EHOERHING (408fTH 1 40 40 40 40 40
% BEEEREIENG (365841 1,116 1,116 1,116 1,116 1,116
NEBIFWBRENE (1) X 2,812 3,120 3,442 3, 754 4,058
MERNEY —EXESS 22,940 25, 449| 28,065 30,609 33, 083
o B #(300) 9, 300 9, 300 9, 300 9, 300 9, 300 ]
F1 =M
BIEEO) 0 0 0 0 0
o B #(390) 12,090 12,090 12,090 12, 090 12, 090
F2E -
4B BIFE (370 11,470 11,470 11,470 11,470 11,470
b e ) B #6650 20, 150{ 20, 150] 20,150 20, 150f 20, 150
A BIFE (370 11,470 11,470 11, 470 11,470 11,470
@ om0 B #(1360) 42,160 42,160| 42,1601 42, 160f 42, 160
BIFE (370 11,470 11,470 11,470 11,470 11,470
s B #(1445) 44 795  44,795| 44,795 44,795 44,795
fBIE® (855) 26,505 26,505| 26,505 26,505 26, 505(
XEERNE (2B . 1BHEV6M - 930 (318) 5530 NN DERPE (= 5524
XNEHESNBYENE (1) - NERIIHEBLHERY —E B+ SBNERE) D140/1000
(ERSBEBREBVFET, NEICKDEELET, )
BEERE G18)
EMNE1 | ENE2 | ENEI | E2NE4 | EMEDS
5 H1EE 9, 300 9, 300 9, 300 9, 300 9, 300
F2EE 46,500 49,009| 51,625 bH4,169( 56, 643
FEIRED 54,5601 57,0069 59 685 62 229| 64,703
- FEIRMEQ 76,5701 79,079 81,695 84,239| 86, /13
) A 94, 240 96, 749| 99,365 101,909 104, 383
(ESRBEEREBRDET, NEICKDEELET, )
[FIAE &EERME]
F1EE=tHFEENHHNERIEEH CEHBUFEEZHB L C\D. EEREEZZHB LD
F2RE= SNTHBIH RIRIER CASREE CENFRINAZBO S EENFEES0L B DTS
FEIREDO=ttHEENTHHN RIIFER CAEREBEE FRERINAZEDS AN FEES0H M8 1205 MBI T DI
EIRBO=tFEENTHHNREHIEER CSEEC EHESINAZENS SN ERE1 200 MBOT
FARIE=21 - 2 - BRUSNDTT  AADTHEINERRERE, THCERBHNDED

WINDDERBEICFZS




